Day 15 - Equation of a Line (difficult) after.notebook May 23, 2017




Day 15 - Equation of a Line (difficult) after.notebook May 23, 2017

Remi der !!!

Whenever yvou see the
words Parallel &
Perpendicular think

slong




Day 15 - Equation of a Line (difficult) after.notebook May 23, 2017




Day 15 - Equation of a Line (difficult) after.notebook May 23, 2017

o Gnd b ec(uc\lnén & ony \we .

(D F\ﬂb 'S\crpe ("\)
=y F\'\a ?dtf\'\ (X. \\3‘)
©) ) eotm\‘kc.m usnﬁf) \3—\35'{\(3(‘5‘\3



Day 15 - Equation of a Line (difficult) after.notebook May 23, 2017

Find the equation of a line parallel to 3y=4x-1
and passing through the point (4,2).
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Determine the equation of a line
perpendicular to 4x+5y=7 and having
the same x-intercept as 10x+7y=-20.
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Determine the equation of a horizontal

line passing through the same point on
the y-axis as 3y = 6x - 9
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4, Determine the equation of a horizontal line passing through {7, 3).
Please state your answer in General Form. i : ‘-el )
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iua of a ine that has an x-intercept of -3 and a y-intercept of 2
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